Modi Public School, Siliguri
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GENERAL INSTRUCTIONS

The Question Paper is divided into THREE sections — READING SKILLS,
GRAMMAR & WRITING SKILLS, AND LITERATURE.

Read the instructions given against each question and answer accordingly.

SECTION-A READING SKILLS [20 marks]
1] Read the passage given below.

1. Nowadays, Mother’s Day celebrations are held throughout the world though they
may not fall at the same time. The way of celebrating also differs but the purpose is
the same. It is to honour the mother and to feel and cherish the beautiful bonds we
share with her. It would be interesting to find out how the idea of giving tribute on
Mother’s Day first took its root and who its originator was.

2. The first celebrations were held in spring in ancient Greece, by paying tribute to
Rhea the ‘Mother of Gods.’ During the 17" century, England honoured mothers by
celebrating ‘Mothering Sunday’ on the fourth Sunday of Lent. In the United States,
Julia Ward Home suggested the idea in 1872 and received Mother’s Day as being
dedicated to peace.

3. But it was Anna Jarvis of Philadelphia who brought about the official observance
of Mother’s Day. She wanted this day to be a holiday and launched a campaign for
it. This she did in memory of her mother who died in 1905 and who had, in the late
19" century, tried to establish ‘Mother’s Friendship Days’ as a way to heal the scars
of Civil War.

4. In 1907, Jarvis held a ceremony in Grafton, West Virginia, to honour her mother.
The proceedings touched her so greatly that she began a massive campaign to
adopt a formal holiday for honouring mothers and in 1910; West Virginia became the
first state to recognize Mother’'s Day. A year later, nearly every state officially marked
the day. In 1914, President Woodrow Wilson officially proclaimed Mother’s Day as a
national holiday to be held on the second Sunday of May.

5. But all her efforts to make Mother’s Day one of sentiment and love proved futile
(useless) when she found that the holiday have been commercialized. Her
accomplishment then turned bitter for her. She fought against the commercialization
of this day. She filed a lawsuit (a legal argument)to stop a 1923 Mother’s Day. She
was even arrested for disturbing the peace at a War Mother's Convention where

women sold white carnations (coloured or white flowers often worn as a decoration
on formal occasions). White carnation was her symbol for mothers, helping her to
raise money. She never intended this day to be one for profit making and that was
exactly what it had become.

6. Jarvis was never a mother herself. She spent her maternal fortune (money
received from her mother) trying to stop the commercialization of the holiday she
founded. Today countries like Denmark, Finland, Italy, Turkey, Australia and Belgium
also celebrate Mother’s Day on the same day as the United States.

On the basis of your reading of the passage, answer the following questions.
[12]

i] Why is Mother’s Day celebrated? [2]
li] Describe the first celebrations of Mother’s Day in different parts of the world.  [2]
lii] Why did Jarvis’s efforts to make Mother’s Day as the day of sentiment and love

prove futile? 2]
iv] Name any two countries where Mother’s Day is celebrated on the same day as
the United States. [2]
v] According to you, should an occasion like Mother's Day be based on profit making
business? Give reasons. 2]
vi] In para 1, the synonym of ‘praise/ honour’ is? [1]
a] cherish  b] celebrations c] bonds d] tribute
vii] The synonym of ‘treat’ in passage 3 is? [1]
a] cure bl heal  c]relief d] comfort

2] Read the passage given below.

1. Time Management is the act of planning and managing time that is spent on
various activities. It helps to increase the effectiveness and efficiency of the time
utilized. It helps us to work smarter instead of harder and also enables us to get
more work done in less amount of time. Planning the time may seem as wastage of
time in itself; however, the benefits of time management are enormous. It results in
less stress, increased productivity, efficiency, professional and personal growth, etc.

2. Time is limited and hence, it is important that we plan our time wisely and make
the best use of the limited hours in a day. Time is something that we cannot store or
save for later use. We cannot retrieve the time that has been wasted; hence, we
need to learn to use it effectively. If we have to manage time effectively, we need to
be organized and focused.

3. With the help of time management techniques, we can accomplish more with
lesser efforts. Time management includes effective planning of activities, setting of
goals, setting deadlines, delegating work, prioritizing our activities, etc.



4. Most people feel that they always have too much to do and within too little time.
Managing time wisely will help to find the right balance between time and work. A
few people resort to multi-tasking in order to get the work done within the specified
time limit.

5. At times, this may result in poor performance in the various tasks assigned. The
major mistake committed while working is when one is in a rush to meet the deadline
without taking proper breaks for rest or relaxation. It is impossible for anyone to
focus on work and to produce good results without considering any break in
between. It helps to perform better if one takes five minute to break every two hours
of work. One can either take a walk, enjoy a cup of coffee or simply meditate. Proper
time management is the cornerstone of a successful life and ensures achievement of
one’s goals in a healthy manner.

6. When it comes to harnessing your time, time management books are a must.
They are a great way to learn from an expert and understand your time better than
ever before. Many of the best lessons can be picked from these books. And it just so
happens that many of those life-changing books are listed on the internet.

7. So, whether you are looking for time management for school/college students,
stay-at-home parents, business executives, or anyone else looking to better utilize
their time, reading these books is a wise way to learn the skill of managing your time.

On the basis of your reading of the passage, answer the following questions.
[8x1=8]

i] Time management helps us in?

a] Multitasking.

b] Increasing the effectiveness and efficiency of the time utilized.

c] Working smarter instead of harder.

d] Both (a) and (b).

ii] If we have to manage time effectively, we need to be and
a] organize, focused b] organizing, focusing
c] organized, focused d] organizer, focuser

iii] Which of the following best defines time management?
a] It is the act of planning and managing time.

b] It is action in limited time.

c] It is action in time that has been wasted.

d] It is time that can be retrieved.

iv] Time management includes?
a] Multitasking. b] Goal setting.
c] Prioritizing. d] Both (b) and (c).

v] Which of the following results in poor performance?
a] Multitasking. b] Using time management techniques.
c] Meeting deadlines. d] Not taking proper breaks in between work.

vi] What major mistake is made when one is in arush to meet the deadline?
a] Not planning effectively. b] Not taking refreshments.
c] Taking proper breaks. d] Not taking proper breaks.

vii] Why is a short break helpful between hectic sessions of work?
a] It helps us to improve our performance.

b] It helps us to enjoy our cup of coffee or tea.

c] It helps us to take a walk.

d] It helps us to achieve our goals.

viii] are a great way to learn time management.
a] Crooks b] The internet c] Social media d] Books

SECTION -B GRAMMAR AND WRITING SKILLS [ 30 marks]

3] Fill in the blanks with suitable prepositions.[6x1=6]

i] Look the scoreboard of the cricket match.

ii] My cousin was walking the road when | saw him.
iii] The vegetables were chopped my father and me.
Iv] You can find the best clothes all the internet.

v] Prakash came and sat his brother.

vi] She wakes up early the morning for school.

4] Choose the correct form of the verb in the following sentences. [6x1=6]
i] All three of the bulbs in the lamp not working. [ is/are]
ii] The cat which had run away from home for three days

in the neighbour’s garage. [was/were]
iii] The chicken and the geese always
[manage/manages]
iv] One of the children
v] If anybody

vi] Bread and butter

finally spotted
to stay clear of the fence.
the piano. Do you know who it is? [play/plays]

me, do let me know. [call/calls]
his daily food. [is/are]



5] The following passage has not been edited. There is an error in each line
against which a blank is given. Write the incorrect word and the correction in
your answer sheet against the correct blank number. The first one has been
done for you.[4]

Incorrect Correct

The border dispute eg. had has
had resulted

in spoiling the (@)

relations among the

two nuclear (b)

neighbour. Kashmir

is the bigger (c)

challenge for

a political think-tanks. (d)

6] Rearrange the following words and phrases to form meaningful sentences.
[4x1=4]

i] lofty / favourite / Himalayas / destination / still/ the /a/ are

ii] be / companionship/ a / life / good / burden / without / would

iii] did Ph.D / and began / she / for NASA / in / aerospace engineering / working

iv] using / sharpened tool / drawing / or / pictures / the / of making / is / a pointed

7] Answer ANY ONE question out of the following. [1x5=5]

i] Your brother has returned from abroad after his higher studies. Your all family
members celebrated his arrival. Write a diary entry within 80-100 words, describing
how you gave homecoming welcome to your brother and how the day was spent
well through the creation of certain beautiful memories. You are Rohit / Rupsha.

li] You are Aniket living in Punjab. You had to attend a wedding ceremony in
Mumbai. Your father took you there by airplane. You were very excited as it was
your first journey by flight. Write a diary entry within 80-100 words, sharing your
experience.

8] Answer ANY ONE question out of the following. [1x5=5]

i] You are Secretary of Vasant Vihar Residents’ Association. Write a Notice in not
more than 50 words, informing the members regarding a free medical camp for
heart check-up and blood test for the residents of the apartment to be organized by
your association in collaboration with Life Med Hospital, Chennai. You are Anuj/
Anjali.

ii] Every year in the central part of the city a flower show is held in the month of
March. Your school has received a circular from the District Collector inviting the
students to visit it. Write a Notice in about 50 words, informing the students about
the show and advising them to go and enjoy it. You are Navtej / Navita, Head Boy/
Head Girl, Sunrise Public School, Surat.

SECTION C- LITERATURE [ 30 marks]
9] Read the extracts given below and answer the questions that follow. [8x1=8]
Al
“Then all the nine runners joined hands and continued
The hundred-yard dash now reduced to a walk
And a banner above that said (Special Olympics)
Could not have been more on the mark.”
i] Why did the nine athletes join hands?
il What does the poet mean when he says: ‘The hundred-yard dash now reduced to
a walk?’
iii] Define the term ‘Special Olympics’ from the perspective of Sports.
iv] How did the last event turn out to be special?
B]
‘One would think he had seen a ghost.” [ The Open Window]
i] Who makes this statement?
il Why did the speaker say this?
iiil Who is referred to as ‘he’ in the above extract?
iv] Had he really seen a ghost?

10] Answer ANY FOUR of the following questions in 40-50 words. [4x3=12]
i] Who is a Hitchhiker? Describe his physical appearance as mentioned in the story.
il What lesson did the Third Spirit teach Scrooge by showing Tim’s and his own
death?

iiil Comment on the ending of the story ‘The Hitchhiker.’

iv]. What kind of a lady was the poet’s mother in the poem ‘Night of the Scorpion?’
v] Why was Mr. Nuttel’s sisterso concerned about him?

11] Answer ANY TWO of the following questions in 80-100 words.  [2x5=10]
i] Summarize the poem ‘Night of the Scorpion’ in your own words.

ii] According to Vera, what tragedy had befallen to her aunt three years ago? Write in
your own words.

iiil The poem ‘The Echoing Green’ by William Blake has been written in the
appreciation of nature in simple terms. However, if we go deep into it, we will find the
theme of life and death in the poem. Elucidate.
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Modi Public School, Siliguri

Annual Examination 2022-23

Class 8A Mathematics Time : 3hrs F.M. : 80

General Instructions:

1. This Question paper contains- five sections A, B, C, D and E. Each section is
compulsory.

2. Section A has 10 MCQ's , 5 True/False and 5 Fill in the blanks based
questions of 1 mark each.

3. Section B has 5 Very Short Answer type questions of 2 marks each.

4. Section C has 6 Short Answer type questions of 3 marks each.

5. Section D has 5(attempt 4) Long Answer type questions of 5 marks each.

6. Section E has 3 integrated units of assessment of 4 marks each with sub parts.

Section A [1x20=20]

1] Every point on the x-axis is of the form

al (0,y) b] (x, 0) cl (x,y) d] (x, 1)
2] The value of 35 + 376

a] 3° b] 3¢ c] 311 dj3-11
3] If y be any non-zero integer, then y° is equal to

a1l b] O c]-1 d] not defined
4] Common factor of 17abc, 34ab?,51a?b is

a) 17abc b] 17ab c] 17ac d] 17a2b?c
5] Like term as 4m3n? is

a] 4m?n? b] —6m3n? c] 6pm3n? d] 4m3n
6] A quadrilateral whose all sides, diagonals and angles are equal is a

a] Square b] Trapezium c] Rectangle  d] Rhombus

7] Rukmini has a farm land which is triangular in shape. What is the sum of all the
exterior angles taken in an order of the farmland?

a] 900 b] 18Q° c] 3600 d] Cannot be determined
8] Which of the following is not a perfect square
a] 361 b] 1156 c] 1128 d] 1681

9] A graph showing two sets of data simultaneously is known as
a] Pictograph  b] Histogram  c] Pie chart d] Double bar graph
10] Listed below are the temperatures in °C for 10 days.
-6 ,—8,0,3,2,0,1,5,4,4
What is the range of the data?
a] 8°C b] 13°C c] 10°C d] 12°C
In questions 11 to 15, state whether the statements are true (T) or false (F).

11] In the equation 2x = 4 — x, transposing — x to LHS, we get x = 4.
12] Diagonals of a rectangle and perpendicular to each other.

13] (a — b)? = a? — b?
14] The multiplicative inverse of (—4)72 is (4)2.
15] Points (3, 4) and (4, 3) represent the same point on the graph.

In questions 16 to 20 fill in the blanks
16] The y-coordinate of the point (2, 4) is
17] If the area of a face of a cube is 10 cm? , then the total surface area of the cube
is

18] The standard form of 32,50,00,00,000 is
19] Number of terms in the expression a? + bc X d is
20] Sum of the interior angles of a hexagon is

Section B [2x5=10]

21] When two coins are tossed, how many outcomes are possible? Name them.
22] Is 2352 a perfect square? Justify, why or why not.
23]Simplify the expression and evaluate as directed:
3y2y—7) —3(y—4)—63 fory=-2

24] Simplify and write the answer in the exponential form of
positive index: (25 < 28)5x 275

25] Identify and find the total surface area of the given figure. A&
0 cm—— Fis
Section C [3x6=18]
26] Find the volume of each rectangular box with given length, breadth and height.
Length Breadth Height

0] 2ax 3by 5cz

(if) m?n n’p p*m

(i) 2q 44 8¢’

27] In the given figure RICE is a rhombus find x,y,z and justify your findings.

D R
28] The area of a trapezium is 34 cm? and the length of one of the parallel sides is
10 cm and its height is 4 cm.Find the length of the other parallel side.




2
29] Simplify using a suitable identity: (ga + gb) —ab
30i]Findthevalueof tif: 4t —3— (3t +1) =5t — 4
ii] The sum of three consecutive odd natural numbers is 69. Find the prime number

out of these numbers.
31] The four angles of a quadrilateral are in the ratio 3: 4: 5: 6. Find the angles.

Section D [4x5=20]
(Attempt any four out of five questions.)
32] Is it possible to construct a rhombus ABCD where AC = 6 cm and BD =
7 cm. Justify your answer
33] A dice is rolled once. What is the probability that the number on top will be?
i] Odd
ii] Greater than five
iii] A multiple of three
iv] Less than one
v] A factor of 36

Y  (Bx+6) —>"

34] For what value of x is the perimeter
of the shape 186 cm. Further also find ' T

the length and breadth of the figure. (2 + 66)

35] ABCD is a parallelogram. Find the
value of x,y and z

cm .Without doing any calculations can you suggest
volume is greater? Verify it by finding the volume of both
the cylinders. Further, also calculate the curved surface
areas of both the cylinders

36] Diameter of cylinder A is 7 cm, and the height is
14 cm. Diameter of cylinder B is 14 cm and height is 7 E T

Section E [3x4=12]

37] Draw the graph for the following table of values, with suitable scales on the axes.
Check whether it's a straight line or not.

No. of 1 2 3 4 5
apples
CostinRs. |5 10 15 20 25

38] Given below is a frequency distribution table. Read it and answer the questions
that follow:

Class Interval | Frequency
10-20 5

20-30 10

30-40 4

40-50 15

50-60 12

il What is the lower limit of the second class interval?
il What is the upper limit of the last class interval?

iii] Which interval has the lowest frequency?

iv]|What is the class size? How do you compute it ?

Distance from P (in km) —

A
0 10 11 12
am. am. am. am. Doon p.m. p.m. - pm.-

Time —

39]The given graph describes the distances of a car from a city P at different times
when it is traveling from City P to City Q, which is 350 km apart. Study the graph and
answer the following:

i] What information is given on the two axes?

ii] From where and when did the car begin its journey?

iii] Did the car stop for some duration at any place? Justify your answer.

iv] At what time did the car reach City Q7
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SECTION A

FILL IN THE BLANKS: 10X1=10

1] is an example of a synthetic fibre.

2] is also known as ‘black gold’.

3] bulb is a device which glows even when a weak electric current

passes through it.
4] Loudness is determined by the of vibration.

5] A person 1 m in front of a plane mirror seems to be m away from his

image.

6] A group of stars that appear to form a pattern in the sky is known as a

7] Cells were 1%t observed incork by in 1665.

8] The change of caterpillar into an adult silk moth is called

9] Water which is suitable for is called water.

10] X and Y chromosomes are called chromosomes.

TRUE AND FALSE: 12X%=6

11] Manufacturing of fully synthetic fibre helps in the conservation of forests.

12] Fabric made from polyester fibre does not wrinkle easily.

13] Natural gas is an example of fossil fuels.

14] The fast process of conversion of dead vegetation into coal is called
carbonisation.

15] Image formed by a plane mirror is always real.

16] Sound cannot travel in vacuum.

17] A charged glass rod attracts a charged plastic straw.

18] Constellation Orion can be seen only with a telescope.

19] The smallest unit of life is chloroplast.

20] The ostrich egg has the measurement of 10cmX17cm.

21] Carbon monoxide is produced by complete burning of fuels such as coal, petrol,
and diesel.

22] Chlorination is a commonly used chemical method for killing germs in water.

MULTIPLE CHOICE QUESTIONS: 10X1=10
23] The natural polymer of which cotton is made is:

a] Glucose b] Fructose c] Cellulose
24] The full form of PCRA is

a] Petrol Conservation Research Association

b] Petroleum Conservation Research Association

c] Petrol Conservation Renewal Association

d] Petroleum Conservation Renewal Association

d] Galactose

25] An example of slow combustion is

a] Respiration b] Photosynthesis c] Excretion d] All of the above
26] What is the angle of incidence of a ray if the reflected ray is at an angle of 100°
to the incident ray?

a] 90° b] 50° c] 100° d] 180°
27] Sound is a kind of

a] Force b] Energy c] Pressure d] Friction
28] During lightning actually takes place.

a] Electric discharge b] Electric charging

c] Electric charge accumulation d] Earthing

29] Aguatic animals in which fertilisation occurs in water are said to be:

(a) viviparous without fertilisation. (b) oviparous with external fertilisation.
(c) viviparous with internal fertilisation. (d) oviparous with internal fertilisation.
30] The jelly-like fluid substance present in cells is called

(a) protoplasm (b) chromosome (c) chloroplast (d) cytoplasm
31] The most conspicuous visible change that occurs in boys during puberty is:

(a) development in the voice box. (b) increase in height.

(c) production of sperms. (d) increased sweating.

32] Which of the following is not a source of air pollution?

(a) automobile exhaust (b) burning of firewood

(c) windmill (d) power plant

SECTION B
VERY SHORT QUESTIONS: 10X1=10
33] Write down one use of melamine.
34] A drum full of kerosene catches fire. What is the simplest way to put out the fire?
35] Arrange the following parts of candle flame in the ascending order of their
temperature: Outermost zone, Innermost zone, Middle zone.
36] A student had heard that rainwater is as good as distilled water. So he collected
some rain water in a clean glass beaker and tested it. To his surprise, he found that
compass needle showed deflection. What could be the reason?
37] What is the maximum displacement of an oscillating object is called?
38] Name a device which works on the principle of multiple reflections.
39] What is asteroid?
40] Write one functions of the cell membrane in cells.
41] What does Figure below represent?

42] Name any two water pollutants which are toxic for plants and animals.



SHORT ANSWER QUESTIONS: 10X2=20
43] Explain why frying pan handles are made of thermosetting plastics.
44] Why is the disposal of the used conducting solution in the electroplating factories
a major concern?
45] A child staying in a coastal region tests the drinking water and also the seawater
with his tester. He finds that the compass needle deflects more in the case of
seawater. Can you explain the reason?
46] What is dispersion of light? Give one natural example of dispersion.
47] We have learnt that vibration is necessary for producing sound. Explain why the
sound produced by every vibrating body cannot be heard by us.
48] Which celestial body is seen as a bright streak of light coming down the night
sky? Write two characteristics of the celestial body mentioned by you.
49] What are seismic waves? How are these waves recorded?
50] Differentiate between the plant and animal cell. [2points]
51] Explain the acid rain formation.
52] Why does increased level of nutrients in the lake water affect the survival of
aquatic organism?

SECTION C
LONG ANSWER TYPE QUESTIONS: 6X4=24
53] How on our end we can reduce the consumption of fossil fuels? Suggest FOUR
measures . [4]
54] i) In an experiment 9 kg of a fuel was completely burnt. The heat produced was
measured to be 180000 kJ. Find out the calorific value of the fuel. [2]

i) Which zone of a flame does a goldsmith use for melting gold and silver and why?
[Yot+1¥5=2]

55] i] Which of the following figures represents a higher-pitched sound? Explain your
answer.

Wave Wave
disturbance disturbance

fig. (a) fig. (b)
ii] Describe irregular reflection with the help of a diagram. Give one example of
irregular reflection from daily life. [2+1+1]

56] i] Mention two precautions that you should take to stay safe during an
earthquake when you are at home.

il What is lightning conductor? Discuss the working of a lightning conductor with a
suitable diagram. [1+3]

57] Observe the figure given as Fig. 9.2 and answer the questions that follow.

(a) Identify the process and label A and B.

(b) Differentiate between the zygote and the embryo. [2+2]

58] a. In the supplied diagram mark the positions of the endocrine glands and name
them which release the hormones that:

(i) controls the release of sex hormones.

(i) is responsible for the secondary sexual characters in boys.

(iii) prevents diabetes.

(iv) maintains the correct salt balance in the blood.

b. Mention any two features seen in boys and girls each to distinguish them from
each other at puberty. [2+2]
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A] Choose the correct option: [3%x1=3]

1] The tribal group of Andhra Pradesh is known as. [1]

a] Van Guijjars b] Labadis c] Bakarwals

2] Who is called the father of the Indian Constitution? [1]

a] Bhimrao Ambedkar b] Vallabhbhai Patel c] Mahatma Gandhi

3] The first Indian woman to become President of the Indian National Congress was

(1]

a] Sarojini Naidu b] Kamla Nehru c] Kasturba Gandhi
B] Fill in the blanks: [6%xY2=3]
1] The Revolt of 1857 began from

2] The British passed laws to stop the practice of

and to encourage the
remarriage of widows.

3] The Satnami Movement was founded by who belonged to a low
caste family.

4] The United Nations was formed in the year

5] The Indian National Congress was established when 72 delegates from all over the
country met at in December, 1885.
6] The Quit India Movement started in August

C]Observe the following picture and answer the following questions: [3x1=3]

i] Identify the person in the above picture.
il Which book did he write?

iii] What was the book about?

D]Read the following extract and answer the questions that follow: [3x1=3]

Literacy in itself is not education”

Mahatma Gandhi wrote:

By education | mean an all-round drawing out of the best in child and man—body,
mind and spirit. Literacy is not the end of education nor even the beginning. It is only
one of the means whereby man and woman can be educated. Literacy in itself is not
education. | would therefore begin the child’s education by teaching it a useful
handicraft and enabling it to produce from the moment it begins its training ... | hold
that the highest development of the mind and the soul is possible under such a
system of . education. Only every handicraft has to be taught not merely mechanically
as is done today but scientifically, i.e. the child should know the why and the
wherefore of every process.

i] How does Mahatma Gandhi view literacy?

il Why does he give so much emphasis on learning a useful handicraft?

iiil What was Gandhiji’s view on western education?

E]JAnswer the following guestions in short: [Attempt any three][3x2=6]

1]Why did the British want tribal groups to settle down and become peasant
cultivators?
2] Name two individuals who sharply attacked the Orientalists.
3] Name the three leading members of the Radical group.
4] a. Who was the Viceroy of India at the time of the partition of Bengal?
b. Why did Mahatma Gandhi decide to break the Salt Law?
5] Why were the Indian sepoys unhappy with the British rule? Give any two reasons.
F]JAnswer the following questions elaborately:[Attempt any three][3x3=9]

1] How did tribal groups live?

2] Why were changes necessary in Indian society?

3] What created problems in unifying the people of India after it got independence?
4] What caused the partition of Bengal in 19057

5] Under what circumstances a compromise was made with respect to language in

newly independent India?



SOCIAL AND POLITICAL LIFE V] LONG ANSWER TYPE QUESTIONS. [Attempt any 3] [3x3=9]

SECTION A 1] Mention any three guidelines of D. K. Basu.
[] Define: (Attempt ANY 3) [3] 2] What is appellate system? Give an example.
A] Retaliation B] Ghettoisation C] Hierarchy D] Violation 3] State three examples of the levels of crimes mentioned in the Scheduled Castes

and Scheduled Tribes Act.

] Fillin the blanks: [4] 4] Mention the reasons that forced Adivasis to migrate from their homelands.

A] The Indian Constitution allows individuals the freedom to live by their religious

. GEOGRAPHY
and as they interpret these. A] Select the correct option: [4x1=4]

B] The High Courts were established in three presidency cities. Two of them are o

1] The resources whose quantity is known, named as— [1]

and

C] According to the Constitution, every individual charged of a crime has to be given a a) Potential resources b) Actual resources

c) Stock d) Patent
D] The Government ensures to end inequity in the country by implementing laws and 2] Why are State owned industries called Public Sector Industries? [1]
the policy. a) Because they are established, run and maintained by private people

b) Because they are established, run and maintained by the government
[11] Mark the correct answer: [3] ) y y g
i] The lower castes are often seen if found rising above their stations: ¢) Both (a) and (b)

[1] d) None of the above
A] penalised B] ostracized 3] What is the average density of population in India? [1]
C] physically assaulted D] all of the above a) 382 persons per sq. km b) 384 persons per sq. km
ii] The Muslim community is considered to be marginalised because of: [1] c) 386 persons per sq. km d) 388 persons per sq. km
A] low population B] low social economic development 4] Temperate grasslands of North America- [1]
C] low employment D] low annual income .
o . . ) ) a) Steppes b) Pampas c) Prairies d) Velds
iii] Adivasis are predominantly involved in the worship of: [1]
. B] Fill in the blanks: 4x1=4

A] Ancestors B] Hindu Gods I Fillin the blanks [4x1=4]
C] Jesus Christ D] Lord Buddha 5] are people who leave a country.

6] refers to breeding of fish in specially constructed tanks and ponds.
IV] SHORT ANSWER TYPE QUESTIONS. [Att t 4 4x2=8 . L .
Vi Q [Attempt any 4] [4x2=8] 7] Production of automobiles is an example of scale industry.
1] Give two reasons why Muslims are marginalised. ) ) o

8] is the leading producer of Rice in the world.

2] What does Atrticle 17 of the Constitution provide?
3] What is Judicial Review?
4] Discuss the role of the Judge in brief.

5] State any two objectives of the Indian Constitution.



C] Read the source given below and answer the following questions: [4]

Subsistence farming is practised to meet the needs of the farmer’s family.
Traditionally, low levels of technology and household labour are used to produce on
small output. Subsistence farming can be further classified as intensive subsistence
and primitive subsistence farming. In intensive subsistence agriculture the farmer
cultivates a small plot of land using simple tools and more labour whereas, Primitive
subsistence agriculture includes shifting cultivation and nomadic herding. In
subsistence farming climate with large number of days with sunshine and fertile soils
permit growing of more than one crop annually on the same plot. Rice is the main
crop.

9.1] Define Shifting cultivation. [2]
9.2]Mention any two disadvantages of shifting cultivation. [1]
9.3]What is the other name of shifting cultivation in north-east India? [1]

D] Short Answer type questions: [3x2=6]
10] Why are resources distributed unequally over the earth?

11] Which industry is often referred to as the backbone of modern industry and why?
12] What are the favourable conditions for the growth of Rice?

E] Long Answer Type Questions: [2x3=6]

13] What are the inputs, processes and outputs involved in Iron and Steel Industry?

(3]

14] What are Population Pyramids? How population pyramids help in understanding
about the population of a country? [1+2]

F] Map Skill Based Questions: [2]

15] On the Outline map of the World, identify the following natural vegetation areas
marked as A and B

QA0 (Y 40 dVW UITINO
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GENERAL INSTRUCTIONS

The Question Paper is divided into THREE sections — READING SKILLS,

GRAMMAR & WRITING SKILLS, AND LITERATURE.

Read the instructions given against each question and answer accordingly.
SECTION-A READING SKILLS [20 marks]

1] Read the passage given below.

1. Nowadays, Mother’s Day celebrations are held throughout the world though they
may not fall at the same time. The way of celebrating also differs but the purpose is
the same. It is to honour the mother and to feel and cherish the beautiful bonds we
share with her. It would be interesting to find out how the idea of giving tribute on

Mother’s Day first took its root and who its originator was.

2. The first celebrations were held in spring in ancient Greece, by paying tribute to
Rhea the ‘Mother of Gods.’ During the 17t century, England honoured mothers by
celebrating ‘Mothering Sunday’ on the fourth Sunday of Lent. In the United States,
Julia Ward Home suggested the idea in 1872 and received Mother’s Day as being

dedicated to peace.

3. But it was Anna Jarvis of Philadelphia who brought about the official observance
of Mother’s Day. She wanted this day to be a holiday and launched a campaign for
it. This she did in memory of her mother who died in 1905 and who had, in the late
19t century, tried to establish ‘Mother’s Friendship Days’ as a way to heal the scars
of Civil War.

4. In 1907, Jarvis held a ceremony in Grafton, West Virginia, to honour her mother.
The proceedings touched her so greatly that she began a massive campaign to
adopt a formal holiday for honouring mothers and in 1910; West Virginia became the
first state to recognize Mother’s Day. A year later, nearly every state officially marked
the day. In 1914, President Woodrow Wilson officially proclaimed Mother’'s Day as a

national holiday to be held on the second Sunday of May.

5. But all her efforts to make Mother’'s Day one of sentiment and love proved futile
(useless) when she found that the holiday have been commercialized. Her
accomplishment then turned bitter for her. She fought against the commercialization
of this day. She filed a lawsuit to stop a 1923 Mother’s Day. She was even arrested
for disturbing the peace at a War Mother’s Convention where women sold white
carnations (coloured or white flowers often worn as a decoration on formal
occasions). White carnation was her symbol for mothers, helping her to raise money.
She never intended this day to be one for profit making and that was exactly what it

had become.

6. Jarvis was never a mother herself. She spent her maternal fortune (money
received from her mother) trying to stop the commercialization of the holiday she
founded. Today countries like Denmark, Finland, Italy, Turkey, Australia and Belgium

also celebrate Mother’s Day on the same day as the United States.

On the basis of your reading of the passage, answer the following questions.
[12]

il Why is Mother’s Day celebrated? [2]
ii] Describe the first celebrations of Mother’s Day in different parts of the world. [2]
il Why did Jarvis’s efforts to make Mother’s Day as the day of sentiment and love
prove futile? [2]

iv] Name any two countries where Mother’s Day is celebrated on the same day as
the United States. [2]

v] According to you, should an occasion like Mother’s Day be based on profit making

business? Give reasons. [2]
vi] In para 1, the synonym of ‘praise/ honour’ is? [1]
a] cherish  b] celebrations c] bonds d] tribute

vii] Mother's Day was proclaimed a
‘nation.’] (1]

2] Read the passage given below.1. Time Management is the act of planning and

holiday. [Use the right form of

managing time that is spent on various activities. It helps to increase the
effectiveness and efficiency of the time utilized. It helps us to work smarter instead of

harder and also enables us to get



more work done in less amount of time. Planning the time may seem as wastage of
time in itself; however, the benefits of time management are enormous. It results in

less stress, increased productivity, efficiency, professional and personal growth, etc.

2. Time is limited and hence, it is important that we plan our time wisely and make
the best use of the limited hours in a day. Time is something that we cannot store or
save for later use. We cannot retrieve the time that has been wasted; hence, we
need to learn to use it effectively. If we have to manage time effectively, we need to

be organized and focused.

3. With the help of time management technigues, we can accomplish more with
lesser efforts. Time management includes effective planning of activities, setting of

goals, setting deadlines, delegating work, prioritizing our activities, etc.

4. Most people feel that they always have too much to do and within too little time.
Managing time wisely will help to find the right balance between time and work. A
few people resort to multi-tasking in order to get the work done within the specified

time limit.

5. At times, this may result in poor performance in the various tasks assigned. The
major mistake committed while working is when one is in a rush to meet the deadline
without taking proper breaks for rest or relaxation. It is impossible for anyone to
focus on work and to produce good results without considering any break in
between. It helps to perform better if one takes five minute to break every two hours
of work. One can either take a walk, enjoy a cup of coffee or simply meditate. Proper
time management is the cornerstone of a successful life and ensures achievement of

one’s goals in a healthy manner.

6. When it comes to harnessing your time, time management books are a must.
They are a great way to learn from an expert and understand your time better than
ever before. Many of the best lessons can be picked from these books. And it just so

happens that many of those life-changing books are listed on the internet.

7. So, whether you are looking for time management for school/college students,
stay-at-home parents, business executives, or anyone else looking to better utilize
their time, reading these books is a wise way to learn the skill of managing your time.
On the basis of your reading of the passage, answer the following questions.
[8x1=8]

i] Time management helps us in?

a] Multitasking.

b] Increasing the effectiveness and efficiency of the time utilized.

c] Working smarter instead of harder.

d] Both (a) and (b).

ii] If we have to manage time effectively, we need to be and

a] organize, focused b] organizing, focusing

c] organized, focused d] organizer, focuser

iii] Which of the following best defines time management?

a] It is the act of planning and managing time.  b] It is action in limited time.
c] Itis action in time that has been wasted. d] It is time that can be retrieved.
iv] Time management includes?

a] Multitasking. b] Goal setting. c] Prioritizing. d] Both (b) and (c).
v] Which of the following results in poor performance?

a] Multitasking. b] Using time management techniques.
c] Meeting deadlines. d] Not taking proper breaks in between work.

vi] What major mistake is made when one is in a rush to meet the deadline?
a] Not planning effectively. b] Not taking refreshments.
c] Taking proper breaks. d] Not taking proper breaks.

vii] Why is a short break helpful between hectic sessions of work?
a] It helps us to improve our performance.

b] It helps us to enjoy our cup of coffee or tea.

c] It helps us to take a walk.

d] It helps us to achieve our goals.

viii] are a great way to learn time management.

a] Crooks b] The internet c] Social media d] Books



SECTION -B GRAMMAR AND WRITING SKILLS [ 30 marks]
3] Fill in the blanks with suitable prepositions. [6x1=6]

i] Look the scoreboard of the cricket match.
ii] My cousin was walking the road when | saw him.
il The vegetables were chopped my father and me.
iv] You can find the best clothes alll the internet.

v] Prakash came and sat his brother.

vi] She wakes up early the morning for school.

4] Choose the correct form of the verb in the following sentences. [6x1=6]
i] All three of the bulbs in the lamp not working. [is/are]
ii] The cat which had run away from home for three days finally spotted
in the neighbour’s garage. [was/were]
iiil The chicken and the geese always to stay clear of the fence. [manage
/manages]

iv] One of the children the piano. Do you know who it is? [play/plays]
v] If anybody me, do let me know. [call/calls]
vi] Bread and butter his daily food. [is/are]

5] The following passage has not been edited. There is an error in each line
against which a blank is given. Write the incorrect word and the correction in

your answer sheet against the correct blank number. The first one has been

done for you. [4]
Incorrect Correct
The border dispute e.g. had has

had resulted

in spoiling the (a)
relations among the

two nuclear (b)
neighbour. Kashmir

is the bigger (c)
challenge for

a political think-tanks. (d)

6] Rearrange the following words and phrases to form meaningful sentences.
[4x1=4]

i] lofty / favourite / Himalayas / destination / still/ the /a/ are

ii] be / companionship/ a / life / good / burden / without / would

iii] did Ph.D / and began / she / for NASA / in / aerospace engineering / working

iv] using / sharpened tool / drawing / or / pictures / the / of making / is / a pointed

7] Answer ANY ONE question out of the following. [1x5=5]

i] Your brother has returned from abroad after his higher studies. Your all family
members celebrated his arrival. Write a diary entry within 80-100 words, describing
how you gave homecoming welcome to your brother and how the day was spent

well through the creation of certain beautiful memories. You are Rohit / Rupsha.

ii] You are Aniket living in Punjab. You had to attend a wedding ceremony in
Mumbai. Your father took you there by airplane. You were very excited as it was
your first journey by flight. Write a diary entry within 80-100 words, sharing your
experience.

8] Answer ANY ONE question out of the following. [1x5=5]

i] You are Secretary of Vasant Vihar Residents’ Association. Write a Notice in not
more than 50 words, informing the members regarding a free medical camp for
heart check-up and blood test for the residents of the apartment to be organized by
your association in collaboration with Life Med Hospital, Chennai. You are Anuj/

Anjali.

ii] Every year in the central part of the city a flower show is held in the month of
March. Your school has received a circular from the District Collector inviting the
students to visit it. Write a Notice in about 50 words, informing the students about
the show and advising them to go and enjoy it. You are Navtej / Navita, Head Boy/

Head Girl, Sunrise Public School, Surat.



SECTION C- LITERATURE [ 30 marks]
9] Read the extracts given below and answer the questions that follow. [8x1=8]
Al

“Then all the nine runners joined hands and continued

The hundred-yard dash now reduced to a walk

And a banner above that said (Special Olympics)

Could not have been more on the mark.”

i] Why did the nine athletes join hands?

il What does the poet mean when he says: ‘The hundred-yard dash now reduced to
a walk?’

iii] Define the term ‘Special Olympics’ from the perspective of Sports.

iv] How did the last event turn out to be special?

B]

“She broke off with a little shudder. It was a relief to Framton when the aunt
bustled into the room with a whirl of apologies...”

i] Who is referred to as Aunt in the above extract? Why was she apologizing?

il Why was there a sigh of relief in Framton’s face?

iii] Despite meeting the aunt his encounter with her turned out to be purely horrible.
What exactly happened? Explain stating any one point.

iv] The above story falls under the genre of ‘Romance.” What does it stand for?

10] Answer ANY FOUR of the following questions in 40-50 words. [4x3=12]
i] Analyze the character of the hitchhiker in your own words.

il What lesson did the Third Spirit teach Scrooge by showing Tim’s and his own
death?

iiil Comment on the ending of the story ‘The Hitchhiker.’

iv] Give the character sketch of the father as seen through the eyes of the poet in the
poem ‘Night of the Scorpion.’

v] Why was Mr.Nuttel’s sister so concerned about him?

11] Answer ANY TWO of the following questions in 80-100 words.  [2x5=10]
i] Nissim Ezekiel’s ‘Night of the Scorpion’ begins with a simple declaration: “I
remember the night my mother was stung by a scorpion.” On the basis of your

reading, elaborate on the scene that followed after the incident.

il Dreams and imagination stimulate the creativity of a person. Vera is indeed gifted
with her creative mind. However, what she majorly lacks is a conscience, a moral
sense of right and wrong. Discuss.

il The poem ‘The Echoing Green’ by William Blake has been written in the
appreciation of nature in simple terms. However, if we go deep into it, we will find the

theme of life and death in the poem. Elucidate.
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General Instructions:

1. This Question paper contains-five sections A, B, C, D and E. Each section is
compulsory.

2. Section A has 10 MCQ's , 5 True/False and 5 Fill in the blanks based
guestions of 1 mark each.

3. Section B has 5 Very Short Answertype questions of 2 marks each.

4. Section C has 6 Short Answertype questions of 3 marks each.

5. Section D has 5(attempt 4) Long Answer type questions of 5 marks each.

6. Section E has 3integrated units of assessment of 4 marks each with sub parts.

Section A[1x20=20]

1]Every point on the x-axis is of the form

a] (0,y) b] (x, 0) c] (x,y) d] none
2] The value of35 + 37°

a] 3° b] 376 c] 31 d] none
3] If y be any non-zero integer, then y° is equal to

al b] 0 c]-1 d] none

4]lt is possible to construct a rhombus ABCD with two measurements AC = 6¢cm and
BD = 8cm because

a] Diagonals of a rhombus are perpendicular bisectors of one another

b] Four sides are equal

c] Each angle is 90°

d]none

5] Like term as 4m3n? is

a) 4m®n? b] —6m3n? c] 6pm3n? d] none

6] Aquadrilateral whose all sides, diagonals and angles are equal is a
a] Square b] Trapezium c] Rectangle d] none

7] Sum of the angles of a quadrilateral is

a] 270° b] 360° c] 90° d] none

8] Which of the following is not a perfect square

a] 361 b] 1156 c] 1128 d] none

9] A graph showing two sets of data simultaneously is known as
a] Pictograph  b] Histogram  c] Pie chart d] none
10] Listed below are the temperatures in °C for 10 days.
-6 —8,0,3,2,0,1,5,4,4
What is the range of the data?
a) 8°C b] 13°C c] 10°C d] none

In questions 11 to 15, state whether the statements are true (T) or false (F).

11]Sum of the interior angles of a triangle is 180°.

12] Diagonals of a rectangle are perpendicular to each other.
13](a — b)? = a? — b?

14] A trapezium is a parallelogram.

15] Points (3, 4) and (4, 3) represent the same point on the graph.

In questions 16 to 20 fill in the blanks
16] The number of times an observation occurs is called .

17] If the area of a face of a cube is 10 cm? , then the total surface area of the cube
is

18]Tally marks for 13 are given by
19] Probability of an impossible event is
20] Sum of the interior angles of a hexagon is

Section B [2x5=10]

21] When two coins are tossed, how many outcomes are possible? Name them.
22] Is 2352 a perfect square? Justify, why or why not.
23]Simplifythe expression and evaluate as directed:

3yRy—7) —3(y—4)—63 fory = -2
24] Simplify and write the answer in the exponential form of positive index:

(25 +28)5x27°

25.Find the altitude of a trapezium whose area is 65 cm2 and whose base are 13 cm
and 26 cm.

Section C [3x6=18]
26] Find the volume of each rectangular box with given length, breadth and height.
Length Breadth Height
® 2ax 3by 5cz
(i) m?n np p*m
(iii) 2q 4q° 8¢3

27] In the given figure, ABCD is a rhombus.
Find the values of x, y and z.




28] The area of a trapezium is 34cm? and the length of one of the parallel sides is
10 cm and its height is 4 cm.Find the length of the other parallel side.

2
29] Simplify using a suitable identity: (Za +2b)" — ab
30]A sum of Rs 800 is in the form of denominations of Rs 10 and Rs 20. If the total

number of notes be 50. Find the number of notes of each type.
31] The four angles of a quadrilateral are in the ratio 3: 4: 5: 6. Find the angles.

Section D [4x5=20]
(Attempt any four out of five questions.)
32]Divide 184 into two parts such that one-third of one part may exceed one-seventh
of another part by 8.
33] A dice is rolled once. What is the probability that the number on top will be?
i] Odd
ii] Greater than five
ii] A multiple of three
iv] Less than one
v] A factor of 36

34]Construct a Quadrilateral HOPE in which HO = 4.5c¢cm, OP = 4cm, PE = 6.5 cm,
EH = 3cm and OE = 6.5cm

35]ABCDis a parallelogram. Find the value of x ,and y

36]. Find the least 4-digit number which is a perfect square.

Section E [3x4=12]
37] Draw the graph for the following table of values, with suitable scales on the axes.
Check whether it's a straight line or not.

No. of 1 2 3 4 5
apples

Cost in Rs. 5 10 15 20 25

38] Given below is a frequency distribution table. Read it and answer the questions

that follow:
Class Frequency
Interval
10-20 5
20-30 10
30-40 4
40-50 15
50-60 12

i] What is the lower limit of the second class interval?
ii] What is the upper limit of the last class interval?

il Which interval has the lowest frequency?

iv]What is the class size? How do you compute it ?

39The heights of 10 girls were measured in cm and the results were as follows :
143, 148, 135, 150, 128, 139, 149, 146, 151, 132

(i) What is the height of the tallest girl?

(i) What is the height of the shortest girl ?

(iii) What is the range of the data ?

(iv) Find the mean(average) height.

(v) How many girls are there whose heights are less than the mean height ?
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SECTION A

FILL IN THE BLANKS: 10X1=10

1] Artificial silk is just another name of

2] is also known as ‘black gold’.

3] bulb is a device which glows even when a weak electric current

passes through it.

4] Loudness is determined by the of vibration.
5] A person 1 m in front of a plane mirror seems to be m away from his
image.

6] A group of stars that appear to form a pattern in the sky isknownasa

7] Water which looks clean still has disease carrying and

impurities.

8] The other name of egg cell is

9] Endocrine glands are also called glands.

10] The shape and size of a cell is related to its

TRUE AND FALSE: 12X%=6

11] Cotton is an example of natural fibres.

12] Bakelite is a good conductor of heat but a poor conductor of electricity.
13] Bitumen, a coal product, is used for road surfacing.

14] The fast process of conversion of dead vegetation into coal is called
carbonisation.

15] Image formed by a plane mirror is always real.

16] Sound cannot travel in vacuum.

17] A charged glass rod attracts a charged plastic straw.

18] Constellation Orion can be seen only with a telescope.

19] Chromosomes contain basic hereditary units called genes..

20] Menstruation stops in men permanently around the age of 45 to 50 years.

21] The smallest unit of life is chloroplast.

22] Boys have enlarged and well developed Adam’s apple.

MULTIPLE CHOICE QUESTIONS: 10X1=10
23] The natural polymer of which cotton is made is:

a] Glucose b] Fructose
24] The full form of PCRA is

a] Petrol Conservation Research Association

c] Cellulose d] Galactose

b] Petroleum Conservation Research Association
c] Petrol Conservation Renewal Association

d] Petroleum Conservation Renewal Association
25] An example of slow combustion is

a] Respiration b] Photosynthesis c] Excretion d] All of the above
26] What is the angle of incidence of a ray if the reflected ray is at an angle of 100°

to the incident ray?

a] 90° b] 50° c] 100° d] 180°
27] Sound is a kind of
a] Force b] Energy c] Pressure d] Friction

28] During lightning actually takes place.

a] Electric discharge b] Electric charging
d] Earthing

29] Majority of cells cannot be seen directly with our naked eyes because:

c] Electric charge accumulation

(a) Organisms are generally unicellular (b) Cells are microscopic

(c) Cells are present only inside the body d) Cells are grouped into tissues
30] Potable water is the water which is
(a) Obtained from a river. (b) Obtained from a lake.

(c) Pure and fit for drinking. (d) Used only for washing clothes.

31] In the list of animals given below, the hen is the odd one out.

human being, cow, dog, hen

The reason for this is
(a) It undergoes internal fertilisation. (b) It is oviparous.

(c) Itis viviparous. (d) It undergoes external fertilisation.



32] The most conspicuous visible change that occurs in boys during puberty is:
(a) Development in the voice box. (b) Increase in height.
(c) Production of sperms. (d) increased sweating.
SECTIONB

VERY SHORT QUESTIONS: 10X1=10
33] Write down one use of melamine.

34] A drum full of kerosene catches fire. What is the simplest way to put out the fire?

35] Arrange the following parts of candle flame in the ascending order of their
temperature: Outermost zone, Innermost zone, Middle zone.

36] A student had heard that rainwater is as good as distilled water. So he collected
some rain water in a clean glass beaker and tested it. To his surprise, he found that
compass needle showed deflection. What could be the reason?

37] What is the maximum displacement of an oscillating object is called?

38] Name a device which works on the principle of multiple reflections.
39] What is asteroid?

40] Observe the following diagram given below.

Answer the following questions.
i) Does it represent a plant cell or an animal cell?
i) Does it represent a prokaryotic cell or a eukaryotic cell?

41] In markets, eggs of birds are available but never eggs of dogs. Why?

42] Name any two water pollutants which are toxic for plants and animals.

SHORT ANSWER QUESTIONS: 10X2=20
43] Explain why frying pan handles are made of thermosetting plastics.
44] Why is the disposal of the used conducting solution in the electroplating factories
a major concern?
45] A child staying in a coastal region tests the drinking water and also the seawater
with his tester. He finds that the compass needle deflects more in the case of
seawater. Can you explain the reason?
46] What is dispersion of light? Give one natural example of dispersion.
47] We have learnt that vibration is necessary for producing sound. Explain why the
sound produced by every vibrating body cannot be heard by us.
48] Which celestial body is seen as a bright streak of light coming down the night
sky? Write two characteristics of the celestial body mentioned by you.
49] What are seismic waves? How are these waves recorded?
50] Differentiate between the vacuoles of the plant and animal cell. [2points]
51] Explain the acid rain formation.
52] Why does increased level of nutrients in the lake water affect the survival of
aguatic organism?

SECTION C
LONG ANSWER TYPE QUESTIONS: 6X4=24
53] How on our end we can reduce the consumption of fossil fuels? Suggest FOUR
measures . [4]

54] i) If the average calorific value of a sample of cow-dung cakes is 7000 kJ/kg, find
out the amount of cakes needed to generate 100 kJ of heat. [2]

ii) Which of the following does the innermost zone of a candle flame contain —
unburnt carbon or unburnt wax? How will you prove it? [Y2+1%2=2]



55] i] Which of the following figures represents a higher-pitched sound? Explain your

answer.

Wave Wave
disturbance disturbance

. A AN
TV

fig. (a) fig. (b)
ii] Describe regular reflection with the help of a diagram. Give one example of regular

reflection from daily life. [2+1+1]

56] i] How are most earthquakes caused?

il What is an electroscope? Discuss the working of an electroscope with a suitable
diagram. [1+3]

57] i) Read the following statements and identify them:

a) The part which produces female gametes.

b) The part where the development of the baby takes place.

c¢) The part through which the developing embryo passes to reach the uterus.

i) Explain the future development of the embryo that would take place after it gets
embedded in the uterus.

iii) Give one example of an organism with external fertilisation. [1.5+2+0.5]

58] i) In the supplied diagram mark the positions of the endocrine glands and name
them which release the hormones that:

(a) Controls the release of sex hormones.

(b) Is responsible for the secondary sexual characters in boys.

(c) Prevents diabetes.

(d) Maintains the correct salt balance in the blood.

i) Mention any two features seen in boys and girls each to distinguish them from

each other at puberty. [2+2]
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HISTORY
A] Choose the correct statements: [3%x1=3]

1] a] The tribal group of Andhra Pradesh is known as Van Guijjars.

b] The tribal group of Kashmir is known as Bakarwals.

c] The tribal group of Kulu is known as Labadis.

2] a] States Reorganisation Commission recommending the redrawing of district and
provincial boundaries was set up in 1954.

b] States Reorganisation Commission recommending the redrawing of district and
provincial boundaries was set up in 1955.

c] States Reorganisation Commission recommending the redrawing of district and
provincial boundaries was set up in 1956.

3] a]The Natal Congress to fight against racial discrimination was founded by
Mahatma Gandhi.

b] The Indian National Congress was founded by SardarBallabbhai Patel.

c] The radical group of the Indian National Congress was founded by Surendranath
Banerjee.

B] Fill in the blanks: [6x1%=3]

1] Many Biritish officials said that knowledge of the east was full of errors and thought

2] The British passed laws to stop the practice of and to encourage the
remarriage of widows.

3] The Satnami Movement was founded by who belonged to a low
caste family.

4] The United Nations was formed in the year

5] The Indian National Congress was established when 72 delegates from all over
in December, 1885.

6] The were not ready to work as labourers.

the country met at

C] Observe the following picture and answer the following questions: [3x1=3]

This is a picture of a child bride at the beginning of the 20th century.
i] Which Act was passed to prevent child marriage and when?
il What did the Act mention?

iiil What changes were later made in the age limits of marriage?

D] Read the following extract and answer the qguestions that follow: [3x1=3]

Literacy in itself is not education”

Mahatma Gandhi wrote:

By education | mean an all-round drawing out of the best in child and man—body,
mind and spirit. Literacy is not the end of education nor even the beginning. It is only
one of the means whereby man and woman can be educated. Literacy in itself is not
education. | would therefore begin the child’s education by teaching it a useful
handicraft and enabling it to produce from the moment it begins its training ... | hold
that the highest development of the mind and the soul is possible under such a
system of education. Only every handicraft has to be taught not merely mechanically
as is done today but scientifically, i.e. the child should know the why and the
wherefore of every process.

i] How does Mahatma Gandhi view literacy?

il Why does he give so much emphasis on learning useful handicrafts?

iiil What was Gandhiji’s view on western education?



E] Answer the following questions in short: [Attempt any three][3x2=6]

1] Why did the British want tribal groups to settle down and become peasant
cultivators?

2] Name two individuals who sharply attacked the Orientalists.

3] What were the points of focus of the Second Five Year Plan?

4] a.Who was the Viceroy of India at the time of the partition of Bengal?

b. Why did Mahatma Gandhi decide to break the Salt Law?

5] Why were the Indian sepoys unhappy with the British rule? Give any two reasons.

F] Answer the following questions elaborately:[Attempt any three][3x3=9]

1] How did tribal groups live?
2] Why were changes necessary in Indian society?
3] What created problems in unifying the people of India after it got independence?
4] What caused the Partition of Bengal in 19057
5] Under what circumstances a compromise was made with respect to language in
newly independent India?

SOCIAL AND POLITICAL LIFE

I] Define: (Attempt ANY 3) [3]
A] Retaliation B] Ghettoisation C] Hierarchy D] Violation

1] Fill in the blanks: [4]
A] Secularism refers to the separation of from

B] The Supreme Court has laid down guidelines that the police must follow at the

time of arrest, and

C] Important mining centres of India are located in and

D] The Government ensures to end inequity in the country by implementing laws and

the policy.

[ll] Mark the correct answer: [3]
I] Niyamgiri hill is located in the Kalahandi district of: [1]
A] Orissa B] West Bengal C] Punjab D] Kerala
Il of the Indian Constitution states that no citizen shall be discriminated
against on the basis of religion: [1]

A] Article 5 B] Article 10 C] Article 15 D] Article 4

I1I] Among the Muslims only __ % of people have pucca houses: [1]

A] 68.6 B] 63.8 C] 68.3 D] 66.8

IV] SHORT ANSWER TYPE QUESTIONS. [Attempt any 4] [4x2=8]

1] Give two reasons why Muslims are marginalised.

2] What does Article 17 of the Constitution provide?

3] What is Judicial Review?

4] Discuss the role of the Judge in brief.

5] State any two objectives of the Indian Constitution.

V] LONG ANSWER TYPE QUESTIONS. [Attempt any 3] [3x3=9]

1] Mention any three guidelines of D. K.Basu.

2] What is appellate system? Give an example.

3] State three examples of the levels of crimes mentioned in the Scheduled Castes

and Scheduled Tribes Act.

4] Mention the reasons that forced Adivasis to migrate from their homelands.
GEOGRAPHY

A] Select the correct option: [4x1=4]

1] On the basis of their use and development, natural resources can be
classified as and . [1]

a) Biotic and Abiotic resources

b) Actual and Potential resources

¢) Renewable and Non Renewable

d) Ubiquitous and Localised resources

2] The main motive of this type of cultivation is profit. Large area of land and a
huge amount of capital is used for cultivation with latest technological
advancement. Name the type of farming from the given list. [1]
a) Subsistence Farming b) Shifting Cultivation
¢) Nomadic farming d) Commercial Farming

3] Basket weaving falls in the category of [1]
a) Small-scale industry b) Cottage industry

¢) Large-scale industry d) None of these



4] Temperate grasslands of South Africa- [1]

a) Pampas b) Downs

c) Veld d] None of the above

B] Fill in the blanks: [4x1=4]
5r]]_ is the application of latest knowledge and skills in doing and making
things.

6]The staple diet in tropical and sub-tropical regions is

7] sector industries are owned, managed and controlled by the state or
central government.

8] are those people who arrive in a country.
C] Read the source given below and answer the following questions: [4]

Subsistence farming is practised to meet the needs of the farmer’s family.
Traditionally, low levels of technology and household labour are used to produce on
small output. Subsistence farming can be further classified as intensive subsistence
and primitive subsistence farming. In intensive subsistence agriculture the farmer
cultivates a small plot of land using simple tools and more labour whereas, Primitive
subsistence agriculture includes shifting cultivation and nomadic herding. In
subsistence farming climate with large number of days with sunshine and fertile soils
permit growing of more than one crop annually on the same plot. Rice is the main
crop.

9.1] Define Shifting cultivation. [2]
9.2]Mention any two disadvantages of shifting cultivation. [1]
9.3]What is the other name of shifting cultivation in Malaysia? [1]
D] Short Answer type questions: [3x2=6]

10] Why are resources distributed unequally over the earth?

11] Which industry is often referred to as the backbone of modern industry and why?
12] What are the favourable conditions for the growth of Rice?

E] Long Answer Type Questions: [2x3=6]
13] What are the inputs, processes and outputs involved in Iron and Steel Industry?

(3]

14] What are Population Pyramids? How population pyramids help in understanding
about the population of a country? [1+2]

F] Map Skill Based Questions: [2]

15] On the Outline map of the World, identify the following natural vegetation areas
marked as A and B
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